STEVES AND SONS 4
203 Humble Ave. £3 @
: San Antonio, TX 78225 Ex 8 i@
G OB 87
v £ 8 Gu
ETEVEE 54.5' MAX. OVERALL 4 ¢ 2w
. 71.5" MAX. OVERALL ~— FRAMEWIDTH  — ; i 283 33
FRAME WIDTH w/ 2X REINF. ~ w/ 2X REINF. WIS 8> 3s@ gé
TSl S Q" -~
70' MAX.OVERALL | 53.75" MAX. OVERALL ?zzh.-'\, FrpRots® . 8% gu
" FRAME WIDTH w/ 1X REINF. ~-  FRAMEWIDTH = = M Y L
37.5" w/ 1X REINF. 2 Z3, 6y
O F .b ’ s ] ’ D MAX 37.5" MAX. D
paque Fiberglass Single Door i D Poaglee
o o e MAX. OVERALL |~— FRAME WIDTH s X B
w/ or w/out Sidelites FRAME WDTH 2k
3 g =
INSWING | == -
11 1)
= 0 R=
2 =g | °z
24 8| e
2= =y <0 |3 % =
%2 e X REEN
> ﬁ_ — xr |aH n
= ) Ebﬁ 2 2z
= 5 el €3
= g o %m
= [a) — E
2 e & &
EVALUATED FOR USE IN THE STATE OF TEXAS a al
The Fiberglass Door system described herein complies with the 2018 International = =l o <
Residential Code (IRC), Sections R301 & R609 and the 2018 International Building Code ] I )
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions: = NE
1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment 15.5" MAX. FRAME WIDTH 15.5" MAX. FRAME WIDTH § SHE
to base material shall be beyond wall dressing or stucco. (SIDELITE) (SIDELITE) oI3|2
2. When used in areas requiring wind-borne debiris protection this product is required 0.75" (1X) OR 1.5" (2X) 0.75" (1X) OR 1.5" (2X) % |0
to be protected with an impact resistant covering that complies with Section Q 3 g L2
R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC. ol 2| S
3. Allowable design pressure requirements must be equal to or less than the design 5 U§) 8 g
pressure rating shown in the design pressure chart, sheet 1 of this drawing. g 53 =
4. Conditions not covered by this drawing are subject to further engineering analysis. : z §
HNE
TABLE OF CONTENTS X 37.5" x 98.0" N/A +40.0 -45.0 § §, ES
SHEET # | DESCRIPTION of |v
1 Typical elevations, design pressures & general notes X** 37.5" x 98.0" N/A +50.0 -55.0 g N
2 Door panel details NEN =
3 Sidelite panel detas woX /X0 | 53.75"x98.0" | 7.0'x79.87" | +40.0 | -45.0 =
4 Horizontal Cross Sections ~f -2
. n %%
5 Horizontal Cross Sections _ wm(gg;géhﬁgemem 54.5" x 98.0" 7.0" x 79.87" +50.0 -55.0 e 5,/19,/10
6 Vertical cross sections SAE  NTS
7 Vertical cross sections OXO " " i " Tu S
8 Buck & frame anchoring w/1x Mull Reinforcement 70.0" x 98.0 7.0"x 79.87 +40.0 -45.0 z:’z :Y: {_Jffs
’ Glomng betas OXO* 71.5"x98.0" | 7.0"x79.87" | + - T
10 Bill of materials & components . w/2x Mull Reinforcement > XIS XA 50.0 55.0 DRAWNTiiOLIO%
*%¥ Requires Securily Strike (fem #24A) and Comer Screw (lfem #59). . o
SHEET _ 1 oF 10

R:\Clients\Steves and Sons - Permanent\B - Texas Dept of Ins\Hinged Doors-Fiberglass\DR 431 Opaque Fiberglass Doors\C - Drawings\TX-4094-95.dwg, TX-4094

© 2o10 R.W. BUILDING CONSULTANTS INC.



‘ON| SLNVLINSNOJ aNIging "Mm'sd oLoez @

2S8LL—d4 # NOLLVNLISIOAN 40 ILVOI4ILY3ID SNOISIA3A -
SNIINIONI YNOISSZA0Nd 40 QuVOS SVXaL SIVIIa TINVG H00a : wm ST SR e I m_w%wmm o_z Slylxlo| « o)
*659° ch . o |
sesee w.._&omm_w\m Fwnuouomo c.w_u \§ ‘ATBN3SSY ¥0 Lavd NOLLYYNIIINOD ONIMSLNO IAOW3IY W =l - 2[5
"ONI ‘SINVIINSNOO ONIGTINg Wm. S| 3000 0dI/281 810z Ol 31vadn| 0z/8z/c | ¢ |<|=| | (2 ] 2_
4000 SSY19¥3414 ol & 5le X
€TLHOL# "3'd Svxal SNOS AaNV S3AFLS wld sy t
‘3'd WPIWYDS ‘4 UOPUAT  :Ag peupdeld sjusWINSOQg 10Nd0Yd <|S|2|5 m -
S %) =
: S
& O
_ O
e
Q\ i
A ® m ® 8
o NN
Z
. — ) o NS “
s 2 * I 8 =
@ s T »
— vk I 1] S I
Q= @ _H_ = M
m s W .w
© | 3
:m.v — O
e - L0 @
=
Al = e
5 S
—® * 5 5
= el .
X 2 R = g £ i T 3
5 -~ |/ = R 2 hy Sq
P — 5 » 98 T gy 2 S|2
(o2 = o " =
e — a S w8
— Q . - bl B2 13 (3)
\\ C (e :OQ _. < @
2 @
. 2 - ®) ©
) ) o
i & =
o
) z o =
: C -~ _——1 i
Sme w——————— e Pl e i e g — m
=1 w
Y @ | @) | g <z
|2
I ® x | gEe
Q| 828&
. T Ze e _ — —
S T @ 7‘ 072 LAI Z5'1e ———
e | £9'18 - o
‘ /// -
© (0]
!l
® E
I
%5 |y
— P w
==z |2
T — —— ol
R v Q|3
wn < Qjic
T ®
>
IHOREH TANVd ‘XYW .ST'G6

€-2 'Bmps6-1601-X 1 \sbuimeiq - H\s1oo(q sse|biaqi4 anbedQ | ey Ya\sse|6iaqi4-siooq pabuiH\su| jo 1daq sexa] - g\luauewsad - SUOS pue sandls\siualD\:y



"ON| SINVLINSNDOJD 9NIaling "My oLaz @

ZS8LL—4 # NOLVUISIOFY 40 3LVOIILYID SNOISIAFY .

S¥IINIONI TVNOISSIAONd 4O QuvOE Svxal SIVLIA TINVG ILT3AIS Ad . : 31vd |ON ol |eln| < m_
D - SIP abuby) swoN 3onpoid/inuoW| gL /91 /7 | | OISy oL

sesee 4 oouiA ogz xoa ‘o'd /], AIBN3SSY ¥0 Lyvd NOLYJN9IINOD _ONIMSLNO IAOW3Y o L QS

"ONI ‘SINVLINSNOD ONIaTiNg @. |s47] 3000 odi/081 8loz oL 3ivadnoz/8z/S| z |N|=| | |2 | 3_

4000 SSY1943814 Ol B E|g B

£ZLOL# *3'd Svxal SNOS dNVY S3A3LS bl || Bl
‘3'd ‘IPIWYDS °4 uopuk :Ag peJpdeld sjuswnooq 119NA0Yd g1 g W 3 m z

EXTERIOR

INTERIOR

/ 2"\ VERTICAL CROSS SECTION

@(2)

—] 0Tl =

SIDELITE TOP RAIL

Wood

l——— 1.60" —>|

&

|—1.4" —

S0— |=—

@ SIDELITE BOTTOM RAIL

S
m W20
o
o
0 w ~&El- “
& : =
Q w
o oz -~ n1.4 Slo
o O = e 3
i ] < &=
& z Q :
/i m —~— 09" —
)
— =
-
g
. o
9) <
d o]
2 £
X -
2 o
| 5 = S
— .|aA«nu (%)
| m ..S&#Sm
W : 1 < ol 2 glo O
a| ., # 2 0 c c
= _gw// ~=l wl 8 c o¢cs
() 1~ O S 1\NP/5e S5 38
E T X — X s I mm mmmwmm
i w|g§ Lo o
b z|= 82 G|
7 T @ Bibks
T | LHORH "O'TA XYW .86L o IR
— — =
wmmm - LHOEH T3NVd XYW .ST'56 mmw,, me,
s =g <l el
=<4 LlHo Sdx
=Ly Qlly
oS 2S5

€-€ 'BMps6-760p-X1\sbuimelq - D\s1ooq ssejbiaqi4 anbedQ | ey Ya\sse|B1agi4-si00q pabuiH\su| 40 1da Sexa] - g\IUduBWI - SUOS PUB S3AIS\SIUBID\Y



"ON| SLNVLINSNOJ aNIaling ‘M oLoz @
2SBLL—d # NOLVMISIOZN 40 31vOl4I1y30 SNOISIAFY
SYIANIONI TVNOISSIH0¥d 40 QdVOE SvX3L A8 J1vd [ON
SNOILO3IS SS0YHO TVINOZIMOH ol . ©
L616°659°CLg "ON Suoyd . P abubyg swboN 3onpoid/ynubW| g1 /91 /7 | | ﬂ %) M m % Hi
S6SEE "1d O9UIDA 0S£Z Xog ‘O'd \S\&. ‘ATBN3SSY ¥0 L1dvd NOLLYYNIIINOD ONIMSLNO 3IAOWIY o . 9|°
"ONI ‘SINVLINSNOO ONIaTINg 000 S41| 3000 odi/o8l 810z ol 31vadn| 0z/8z/5 | z |<| < g | 47
b} SSY1943414 0 2 s X
SZLYOL# 3'd SvxaL SNOS ONV S3ATLS Gl @ H HEA
‘3'd “IPIWYDS ‘4 uopuki :Ag peupdelq sjuewinoog 1onaoYd _DM m = M m _._w._
I .”
\. 4 §
4 N
#£1|4 o
/ ¢
#1114 ’
\ : i
#2114 E
' o
2|4 o
4 s
# 4 v.
mw @//‘ ‘ _ /.@
4 e 2 N
@)
— ©- ® &
> pret
h 2
(7]
C 7]
av t S
oz
\¥4 < 0.
) T 2E @ -
m & ® 8
ol © (0} o
= - o A\ e =
= = 7 I o mlxu m N[
~ ~
paidl I O N = £
= : = | i Z
mw
mw
>
A H o} = X nv
4 2v
> @ Q
x . os -
Q o
mw & z
< —
i 4
\
~ =
) —_
v
3
(%)
\ %]
-—® $
S
(= S
]
=
‘\ ) Pv— nNU
1 o
i [ o N
K - /@ oz
.\ ‘ | m
y y "
¢ e
—/" ) ¢ : -
4 v s
PNu 4 . /
T "|LIf
w 4 “‘ b e M_
: &
= a

£- 'Bmps6-7607-X1\sBuime.q - D\s100Qq sse|biaqi4 anbedQ | ey Yq\sse|biaqi4-si00q pabuiH\su| jo 3dag sexa] - g\Iusuewlad - SUOS pue saAa1S\SIUID\Y



"ON| SLNVLINSNOJ aNIging *Mm's OoLoz @

wmmwb_www # NOLWAISIOZN 40 ILVOIHILLNIO . SNOISIAIY
IVNOISS i
SioRe 50 woR SWAL | SNOWDFS SO0 WINOZWOH N —sr ey ey ent e o 2l vl [0 |+ |9
L6L6°6G9°CLE :'ON suoyd : e o
S6SEE "1 O9UIPA 0S£Z Xog ‘O'd \w\w@. "A18W3SSY ¥O ldvd NOLLY¥N9IINOD ONIMSLNO 3IAOWIY DR . Q|
“ONI ‘SINVLINSNOO ONIaTINg S41| 3000 0di/081 8102 Ol 31vadn| 0z/8z/5 | z |<| = 2 | 5_
4004 SSY19¥34!4 wl 1&g &
nN_v.VO_.* ‘I°'d Swx3l SNOS QZ( mma.hm ] Y . ;| = ]
‘3'd ‘IPIWYDS ‘4 uopui :Ag pedpde.ad sjuswnoo(q :10NAa0dd W m m W m W._
T
=
O ¢
2o
)
5% =
0 Q G
05 c
£ 2 [}
95 o
gl = R S <
o » Q0 cC O
o>E D=
0B o =E
S22 35
OTo0 g€
w O Q o)
& >
SED8 X&
A o o = %
9% 35
Gl 220 gL
=05 [0}
= 020 4
mnu o Ol TE2 2x
= @) _ Zl 5v0o® U
= . .
Ll L — N
L = wn Z
o
\\ N Q ry
=
@ 5
z
L
T =
i w W @ - - 2
E WO O -
wn Z (YT} “w
T : _® 8
-
—®) 2 &
g A 2
= o S 2
p : -~ <
il - = ‘\ ~ =) O
\ ! = @ N
... \ R o) /Q ”
... st -u ) q o
Ml [+ =
7’ I N ’ . m
L | & &
N . - / ™ (D
A | (Y ]
; - (L)
™ P \
s <
. =
VI
a4
[a)

EXT. SHEATHING

®)

EXTERIOR
INTERIOR

\

23

@

m HORIZONTAL CROSS SECTION

SEE NOTE 2

od

D

NOTE 1

A\

€-S 'BMP'S6-160p-X L\sBumesq - D\siooq sse|Biaqiy anbedQ | ey Ya\sse|Biagi4-si00q pabulH\su] 40 3daq sexa] - g\IUaUBWIA - SUOS pue SaA3IS\SIUBID\Y



"ON| SLNVLINSNOJ aNIaging "Mm'sd oLoz (@)

sty # NOLVALSIOZN 40 ILVOI4ILNID SNOISINIY
ON3 TVNOI i
ST R SR SNOLLO3S SSOMO WOIHA e smeny rpeigy et e o T 2l il x| | S
L616°659°CL8 'ON 8uougd : A 2l
S6SES 14 OSMIDA 0£Z Xo8 °O'd \h\h\&. ‘ATBWISSY ¥0 luvd NOLLYYNIIINOD ONIMSLNO IAOWIY NS 1. Q G
"ONI ‘SLNVLINSNOO SNIaIng S41| 3000 odi/281 810z 0l 31vadn| 0z/8z/s | z |<| = E 6;
Y004 SSY19¥38!4 Wl 1&g &
_SZLFOLF "3'd Swxal SNOS ONV S3A3LS MEIREE i
3'd IPIWYSS ‘d UOPUA]  :Ag pesodeld sjuewInNooQ :10NA0¥d HEIHEE o
[
O
i =
£ S
i =
o
o
|G
| 0
O£
oz
O3
N. <
~
U3
—” c
oz 3
oz ..V: 2
D [Ze]
oz
K N
Z
9]
=z
=
<
[0}
=
w
= (‘dAL)
—— JANIS.O
/ :m_--o
|
| )  —
= =
v 9 oz o
O = O =
o Ul o 1 O
2 B
= [ 3 = | S
[ Sl g3 n 35
g2 Sk
' =2
V|EB (S]ke)
-~ 5 w - nnu
N B £° Elc
9 2
S|23 S|g
A\
|0 ™|~
oz v
@ 3 : :
s o) ® x B (®
< [T} L
= = =
[a) =z Z

€-9 'BMp'S6-1601-X L\sBuimelq - D\s1ooq sse|biaqi4 anbedQ | ey ¥a\sse|biaqi4-si00q pabuiH\su| jo 3daq sexa] - g\lusuewad - SUOS pue saAdIS\siuald\'y



"ON| SLNVLINSNOJ aNIaing ‘m"'s oLoz Q

2S8LL—d # NOLVMISIOFYN 40 ILVOL4ILNED : SNOISIATS
SYIINIONT TYNOISSIH0¥d 40 ay¥vod Svx3l A8 J1vd [ON o
SNOILO3S SS Qf .
£8LATESHEL VON WUBHA .omo sl A0 8buoyy swoN 3onpold/4nuon| i /gt/z | L || U] 23 M_
S6GEC “14 OOUIDA 0£Z XO8 '0'd \Sv@ ‘XTGN3SSY_¥0_14vd NOLLVIN9IINOD_ONIMSLNO IJAONIY D = =1
“ONI “SINVLINSNOO ONIaTINg S471|_3000 0di/o81 810z Ol 31vadn| 0z/82/5| 2 |<| =< g | 7_
4000 SSY1943814 ol 18| &le X
£ZLPOL# "3°'d SvxaL SNOS (ONV S3A3ILS w9 | ¢ |E G
‘3'd IPIWYDSS ‘4 uopuk :Ag pedpdeud sjuewnooq 1109N00Yd _Ml m W W m %
xx
w\ <
u _ 0
=0
A12 Z0
..\.‘.w.. c &
N y: be
NMJ ;W ........... O™
,.NM.MJJ!DOF\MIN)\ m ©
TeL\ L™ e
275
£ 0
g E2
El 225
@] O €2
Z (%) D, 0]
o < D
oz «
g @) i
O z
@) O
= O
[a%4 - o. m
O =
i 2
= 2
= 5
9|2
O|o
(<4 =]
02
-t &
N <</ 8
N 3]
Vg
.Dln £
S
__| —
5 ®
oz
o~
= N
£

EXT. SHEATHING

("dAL)
\ / @ B o
l/@

N\

vy

EXTERIOR

71"\ VERTICAL CROSS SECTION

SEE

NOTE 1
INTERIOR

DRYWALL \ k5

-, 'BMp's6-7601-X L\sbuimelq - D\s1ooq sse|biaql4 anbedQ | £y Yya\sse|biaqi4-si00q pabuiH\su| jo 1daq sexa] - g\lusuewad - SUOS pue SaAd)S\sIUdID\Y



oSy, b n
2X FRAMING TO BE DESIGNED BY THE Fe **E o $3 @
ENGINEER OR ARCHITECT OF RECORD ;?Q‘,\} PSPt 2 3 o we
(TYP.) P ng . .8 z-
' Cui NriQio o o S8 gy
IS YN > e = .N oW
50.: I S H : ;2 e
puy 7 i iS\ @ KX Sg oo 3
“ ; s g Ny o
ZS T - SFOEE8 99
" 4" (TYP.) A(TYP) —— .. 4" (TYP) ; N I P S MR Y T ogcp fe
- ) L™ H e 5 (ve) M) S RSN | 2g® gb
" e [¢]
— | z L cP) — | P sil.l
Ll 1 R I = [T K Y il 2 25 5y
s —l— < . — _ —[| — . & S
P B Y [ f : S5
- — = — | I = . _ . ] °E 3 °
HEAD & JAMBS HEAD & JAMBS ) & 8
TYP. e
(YR} (TYP.) HEAD & JAMBS o
- - — — — — — - (TYP.) | —|| —— ’ (ZD
* N %
o 58 S
= - I - = S~ - ! : Sl I
\— S A 20 |5 w
FRAME < T S X : S HEE
% [ i < E =2 no |3 &
- —l &G B3 == £ il
2¢ - - - - 1 1 1 28 |4 <
2X BUCK\ SILL (TYP)) - SILL (TYP.) % g SILL (TYP.) e 517" |3 5
— o
= WOOD - - - WOOD 125 , I wooo I 2 g o
20
CONCRETE CONCRETE I . CONCRETE 2 Tl
ot — — — — i | . - — . c2>
! ' L 111 Bl L L alf) £ Lifflir g | (=
% %X || 8
Qe[S
FRAME ANCHORING FRAME ANCHORING HINGE JAMB FRAME ANCHORING STRIKE JAMB NE
(X) (OX) (OXQ) B8|C[El |2
ozl |9
FLOOR SUBSTRATE MATERIAL g § + g
CONCRETE (MIN. 3000 PSlI) . ‘g § g
WOOD (8.G. >= 0.42)(TYP) / Sl
(18) —7 g
CONCRETE ANCHOR NOTES: RIS
1. Concrete anchor locations at the corners may be adjusted to maintain the min. Slx|s
edge distance to mortar joints. 7@ o [o
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to i ';:>< S ol
maintain the min. edge distance to mortar joints, additional concrete anchors O e | o E =
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. 0 i
3. Concrete anchor table: o~ -2
—_— ) /4 o 5719/10
/1 LATCH & DEADBOLT DETAIL scAle:  N.T.S.
- . R el S HINGE DETAIL / w/ Security Strike owe. BY:  JK
1apcoN® | /4 1-3/4" 1-1/2" 4" /A ok ev:  LFS
ELCO LATCH & DEADBOLT DETAIL DRAWING NO.:
ULTRACON®| 174" 1-3/4" 1 4 w/ Standard Strike TX—4094
SHEET _8 oF 10

R:\Clients\Steves and Sons - Permanent\B - Téxas Dept of Ins\Hinged Doors-Fiberglass\DR 431 Opaque Fiberglass Doors\C - Drawings\TX-4094-95.dwg, 8-3

© 2010 R.W. BUILDING CONSULTANTS INC.



"ON| SLNVLINSNOJ aNIaing "‘m's oLoz (@)

2SBLL—4 # NOLLVMLSIOSN 40 3LVOIJILNIO SNOISIAIY .
SYIANIONT TVNOISS3J08d 40 QuvOos SVXaL SIVIIA 9NIZVIO A8 31vd [ONfo| | 0| < m_
L616°659°CL8 ON euoyd Ar aBuoyD SWDN Janpodd,/INIoR| gi/ellz | 11 A SIE| 3%
S6SEE 14 OSUIDA 0SZ X08 ‘O'd \SV *AT8W3SSY ¥0 1dvd NOILVINIIINOD ONIMSINO 3IAOWIY e " 1L
*ONI ‘SINVLINSNOO 9NIaling S47| 3000 2di/081 810z OL 31vadn| oz/gz/S| ¢ Sl . z | 9‘

¥004 SSY19¥3gl4 AR

SZIPOL# '3'd Svxal SNOS AaNV S3A3LS w 9|y W &
‘3'd ‘PIWYDS 4 uopuk] :Ag peJdpde.ad sjuswnooq :109N00Yd 2| g W Tz z

3
o’ (@)
(TN w L
= 9
H3 o =
HMS w v
Z v B3 = B3
i <= 7 % B%8p
%] P~
S o2 = o
] \y qQl's
NS
O(az
- _ - ®
N W ....m\ (3]
0 Y o ‘ oz
20 | o
o’ o
o 0
= z
a3
oz [a]
(TN (TN
5 0 K
By < %
HISS wi v
in) K.BmMu o .ulwv
5 <=7 T 23
SOS
(%] v
S NS i
. 2
™~ _\y Lo 2
S [ mw
Gm
* il 25
¥ Nj»
[ a. . Mm
* O[O
o L .
®) o o fa)
% oz w W
= = = ¥ &=
&5 = =RZ I >
w o owBg = 23
= <=7 T ¥p
232
N
O =0
™~ _\y
S | j

s

GLAZING DETAIL
RSL Door Frame

)

ARRRRR1//11111101111111111]] =

y

o

@

EXTERIOR
INTERIOR

€-6 'BMp'S6-1607-X L\sBuimelq - D\s100q sse|biaqi4 anbedQ | ey Ya\sse|biagi4-siooq pabuiH\su| jo 1daq sexa] - g\lusuewsad - SUOS pue SaAIS\SIU3ID\Y



R:\Clients\Steves and Sons - Permanent\B - Texas Dept of Ins\Hinged Doors-Fiberglass\DR 431 Opaque Fiberglass Doors\C - Drawings\TX-4094-95.dwg, 10-3

BILL OF MATERIALS
ITEM # DESCRIPTION MATERIAL

B 2X FRAMING SG >=0.42 WOOD

C 1/4" MAX. SHIM SPACE -

J #10 X 3" PFH WOOD SCREW STEEL

L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB.) STEEL

M 1X'OR 2X REINFORCEMENT SG >=0.55 STEEL

P 1/4" PFH ELCO OR ITW CONCRETE SCREW (1-3/4" MIN. EMB.) STEEL

1 FEMALE LITE FRAME - ODL POLYPROPYLENE
1A FEMALE LITE FRAME - RSL POLYPROPYLENE

2 MALE LITE FRAME - ODL POLYPROPYLENE
2A MALE LITE FRAME - RSL POLYPROPYLENE

3 #8 X 1-3/4" PANHEAD SMS (LIGHT FRAME SCREW STEEL

3A #8 X 1-1/2" PANHEAD SMS (LIGHT FRAME SCREW STEEL

4 ALUMINUM SPACER SYSTEM ALUMINUM

5 HOT MELT SEALANT / SILICONE SILLCONE

7 WEATHER STRIP FOAM

12 #10 X 2-1/4" PFH SCREW STEEL

16 SIDE JAMB §G >=0.42 WOOD

17 HEAD JAMB SG >=0.42 WOOD

18 4" X 4"HINGE MIN 0.1" THICK STEEL

19 #10 X 3/4" PFH WS STEEL

20 #10 X 2-1/2" PFH SCREW STEEL

21 KWIKSET LOCK -SERIES 690 CP PASSAGE STEEL

22 KWIKSET DEADBOLT -SERIES 690 CP STEEL

23 LATCH STRIKEPLATE STEEL

24 DEADBOLT STRIKE PLATE STEEL
24A DEADBOLT SECURITY STRIKE PLATE STEEL

25 #8 X 2-1/2" PFH WOOD SCREW STEEL

29 SIDELITE SPACER VINYL

30 DOOR BOTTOM SWEEP PVC

31 INSWING THRESHOLD ALUM/COMP.
32 ADA THRESHOLD ALUM.

34 SIDELITE THRESHOLD ALUM./COMP.
40 DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -

41 WOOD LOCK BLOCK WOOD

42 HINGE STILE - SG >= 0.42 WOOD

43 LATCH STILE - SG >=0.42 WOOD

44 TOP RAILSG >=0.42 WOOD

45 BOTTOM RAIL COMP./LVL
46 FRAME REINFORCEMENT SG > =0.42 WOOD

47 POLYSTYRENE FOAM POLYSTYRENE
49 FIBERGLASS SKIN 0.08" MIN. THICKNESS FIBERGLASS
50 SIDELITE PANEL - SEE SIDELITE PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -

52 SIDELITE STILE - SG>= 0.42 WOOD

53 SIDELITE BOTTOM RAIL COMP./LVL
54 SIDELITE TOP RAIL WOOD

56 SLIDE BOLT ROD STEEL

57 SIDELITE FEMALE LITE FRAME - RSL PVC

58 SIDELITE MALE LITE FRAME - RSL PVC

59 #8 X2' PFH WOOD SCREW STEEL

4.5¢" i

— 125" L

m HEAD & SIDE
Jamb

5.62"

31 INSWING THRESHOLD

D>
{’?;‘L’ o, d
221111*.:':
QARG

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

I‘— 2.09" 4’ 52

@ SIDELITE SPACER

[ 4.56"

LA € oy
ADA SILL

Lt

_T

597

' SIDELITE THRESHOLD

P.0. Box 230 Valrico FL. 33595

Documents Prepared By

BUILDING CONSULTANTS, INC.

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

STEVES AND SONS
FIBERGLASS DOOR
PART OR ASSEMBLY:

PRODUCT:

BILL OF MATERIALS
& COMPONENTS

LFS
JK
Y

REMOVE OUTSWING CONFIGURATION

REVISIONS

5/28/20 |UPDATE TO 2018 IBC/IRC CODE
7/16/15 [Manuf./Product Name Change

NOJ| DATE

2
1

oATEE 5/19/10

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4094

sHeer 10 oF 10

© 2010 R.W. BUILDING CONSULTANTS INC.



